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ECONOMICS
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Course Code : ECOH-CC-T-6
Full Marks : 60 Time : 24 Hours

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
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a)  What are the objectives of fiscal policy and

monetary policy?
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b)  What is contractionary Fiscal policy?
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c) What is meant by money illusion?

s e R e

d) What is inflation tax?
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Define AS curve.
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What is NAIRU?

NAIRU 2

What do you mean by frictional unemployment?
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What does a point on the right of LM curve
imply?
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What is the shape of AS curve in the Keynesian

case?
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What is meant by rational expectation?
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What is Hyperinflation?

srEel Jarife 62
What is Philips curve?
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Answer any four questions: 5%x4=20
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What is the nature of AD curve according to the

classical theory?
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What are the sources of wage rigidity in the
Keynesian system?

(R e MG TG 2ET PRI S
4

When does the AS curve shift? Explain briefly.
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Explain the slope of the AS curve in the short

run using the sticky wage model.
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How can you explain cost push inflation with
the help of mark-up pricing?
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Distinguish between Cost push inflation and

Demand pul inflation.
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Answer any two questions:

Show and explain the impact of an adverse supply
shock in an AD-AS diagram.
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Consider the IS-LM model and explain the
effectiveness of monetary policy and fiscal
policy if interest elasticity of both money

demand and investment demand are quite low.
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Briefly explain the crowding out effect. Show
how the crowding out effect can be neutralised

by appropriate monetary policy. 5+5
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Discuss the underlying reasons for the
downward slope of macroeconomic AD curve.

Discuss the effects on AD curve if 1) Government

[4]



d)

378/Eco.

expenditure increases 1i) money supply
increases. 4+3+3=10
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Examine the relation between inflation and

unemployment in the short —run.
OR

How does price expectation change the relation
between inflation and unemployment in the

long-run?
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